Potencias de 10 (B)

Calcule los siguientes productos y cocientes.

2.8531+10!

6.3803 = 102

5.5784 +10?

9.8486 + 10!

4.3318 x 10?

5.8865 + 10!

2.4836 x 103

7.3877 x 103

5.7378 x 10!

2.9231 x 10!

9.0226 + 10?

4.6982 x 10!

2.151 +10?

5.2245 x 10°

7.5126 =103

8.7438 =107

2.8793 x 10!

4.3956 x 103

6.6883 +— 107

8.9478 =107
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Potencias de 10 (B) Respuestas

Calcule los siguientes productos y cocientes.

2.8531 + 10!
0.28531
6.3803 + 102
0.063803
5.5784 +10?
0.055784
9.8486 + 10!
0.98486
4.3318 x 10?
433.18
5.8865 10!
0.58865
2.4836 x 10°
2,483.6
7.3877 x 10°
7,387.7
5.7378 x 10!
57.378
2.9231 x 10!
29.231

9.0226 < 10?
0.090226
4.6982 x 10!
46.982
2.151+10?
0.02151
5.2245 x 10°
5,224.5

7.5126 +10°
0.0075126
8.7438 + 102
0.087438
2.8793 x 10!
28.793
4.3956 x 10°
4,395.6

6.6883 = 102
0.066883
8.9478 =107
0.089478
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